SHORE SIDE DOCKS TRAC DOCK OPTIONS

Quality You Can Stand On™

BENCH,KAYAK/ CANOE RACK, FLAG

- :, i — E
BRACKETS MOUNT TO SIDE & BOTTOM OF FRAME USING 3/8" X 1 1/4"
BOLTS W/ WASHER & NYLOCKS. KAYAK / CANOE RACK AND FLAG SLIDE INTO BRACKET

AND TIGHTENED W/ SQUARE NUT AND 3/8 X 1" BOLT.KAYAK CAN ADJUST TO HEIGHT DESIRED

BOAT BUMPER

BRACKETS MOUNT TO SIDE & BOTTOM OF FRAME USING 3/8" X 1 1/4"
BOLTS W/ WASHER & NYLOCKS. BUMPER SLIDES INTO ANGLE BRACKET AND
ATTACHED USING 2 3/8 X 1 1/4" BOLTS W/ WASHER & NYLOCK.

ADJUST TO DESIRED HEIGHT.
CLEATS END CAP

i

NTS TO ENDS

TRADITIONAL CLEAT MOUNT  FLIP UP CLEAT MOUNTS TO  END CAP MOU

TO BRKT, W/ 2 5/16 X 2" SIDE OF TRAC USING 2 3/8" OF DOCK W/ 2 5/16 X 2 1/2"
MACHINE BOLTS, THEN X 1" BOLTS W/ NYLOCKS MACHINE BOLTS, LOCK
MOUNTS TO TRAC W/ 3/8" X WASHER AND NUTS

11/4" BOLTS W/ NYLOCKS
§ =SSN WALL BRACKET
S8 POSTION BRACKET ON WALL W/ 3" LEG FACING DOWN AND WELDED
— CLIPS FACING UP.FRAME IS 5" TALL, 5 1/4" W/ OLD MOISTURESHIELD.
ATTACH BRACKET W/ OWN HARDWARE. PLACE DOCK ON BRACKET
AND INSERT 3/8 X 1" BOLT, BOTH SIDES

SHORESIBEDOECKS
SHORESIDEDOCKS.COM.
508-248-9933
RIIND@VERIZON.NET 6/22/2015



LADDER

MOUNT LADDER TO SIDE OF FRAME USING THE TRAC W/ 3/8 X 1" BOLTS. ALIGN 1 SIDE OF
LADDER OVER A CROSS BAR, DRILL 5/16" HOLE THRU DECKING AND CROSS BAR, BOLT
DOWN W/ 5/16 X 4 MACHINE BOLT, MOUNT OTHER SIDE THRU DECKING. IF MOUNTING ON THE
END OF THE DOCK USE MOUNTING BRACE,POSTION LADDER IN THE CENTER OF THE DOCK,
PLACE BRACE UNDER THE 1 X 1 TUBE, THRU BOLT, SANDWICHING THE TUBE BETWEEN THE
BRACE AND THE DECKING

STAIR & RAILING CORNER SECTION

DRILL 5/16" HOLE ALIGNED MOUNT CORNERS USING 3 3/8 X 1" BOLTS IN

W/ HOLES ON MOUNTING EAR|TRAC AND ALIGN W/ HOLES IN SIDE OF CORNER PLATES.
ATTACH W/ 5/16 X 2 1/2" BOLT |OR A COMBINATION 3/8 X 1" BOLTS AND 3/8 X 2 1/2"
RAILINGS ARE PRE DRILLED [IF MOUNTING TO THE END OF ONE DOCK.

USE 4 3/8 X 3"BOLTS
RAMPS

MOUNT FACE PLATE TO DOCK, USING PRE-DRILLED HOLES AND MOUNT W/ 5/16 X 2 1/2"
MACHINE BOLTS. ALIGN HINGE BRACKETS AND INSERT HINGE PINS. SECURE WITH
|4 HASP PINS

BOLT ON BRACE BOLT ON LEG CORNER BUMPER

MOUNTS TO BOTTTOM TRAC MOUNTS TO SIDE TRAC USING
MOUNT TO BOTTOM OF LEGS USING 3/8 X 1" BOLTS, 3/8 X 1" BOLTS,WASHERS &
WITH 2 3/8" ROUND U-BOLTS WASHERS AND NYLOCKS NYLOCKS & 1/4 X 1" TEK SCREW

SHORE SIDE DOCKS
SHORESIDEDOCKS.COM.
508-248-9933
RIIND@VERIZON.NET 6/22/2015



